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1. Convert the following to PPM
a)  0.75g/l   = ______________         

b)  0.0003g/100cm3= _________________________

2. Calculate in grams the following:
a) 1M NaOH = ____________         

b) 0.125 M H2SO4= _________________________

3.   What is the concentration in moles per Litre of the following solutions
a) 1 g of H2SO4 in 1 litre = _______________________________

b) 24g NaOH in 500cm3 = _________________________________

c) 4 g HCL in 750cm3= ____________________________________

d) 5%w/v of NaOH=________________________________________

e) 0.2 %w/v H2SO4 =________________________________________

4.  Calculate the number of moles of sulfuric acid (H2SO4) in:
a) 50 cm3 of 0.1 M H2SO4

b) 100cm3 of 0.05 M H2SO4

5.						
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Answer at least two questions from this section [see page 1 for full instructions].

A solution of sodium thiosulfate was prepared by weighing out a certain mass of crystalline sodium
thiosulfate (Na,S,03.5H,0) on a clock glass. dissolving it in deionised water and making the solution up
carefully to 500 cm’® in a volumetric flask. A burette was filled with this solution and it was then titrated
against 25.0 cm’ portions of previously standardised 0.05 M iodine solution in a conical flask. The
average titre was 20.0 cm’.

The equation for the titration reaction is

2 - -
28,03 + I - 21 + 54062
(a)  Sodium thiosulfate is not a primary standard. Explain fully the underlined term. ®)

(b)  Describe how the crystalline thiosulfate was dissolved. and how the solution was transferred to the
volumetric flask and made up to exactly 500 em’. (15)

(¢)  Pure iodine is almost completely insoluble in water. What must be added to bring iodine into
aqueous solution? 3)

(d) A few drops of freshly prepared starch solution were added near the end point as the indicator for
this titration. What sequence of colours was observed in the conical flask from the start of the
titration until the end point was reached? (12)

(e)  Calculate the molarity of the sodium thiosulfate solution and its concentration in grams of crystalline
sodium thiosulfate (Na,S,0:.5H,0) per litre. (12)





